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1. Let x be areal number such that secx—tanx = 2, Then secx+tanx =

a. 0.1 b. 0.2 c. 03 d. 04 e. 0.5

9
2. S muald cscx—cotx = A 81 A=0 tdIMued tanx mnudslase 1

2_ 2
1. 2A2 2. 2A2 3. A2 1 4. A2+1
1+A 1-A A“+1 Ac-1

3. Evaluate the sum In(tan 1)+ In(tan2%) + In(tan 3°) + ..... + In(tan 88°) + In(tan 89°)

1Y T
a. 0 b. 1 c. 2 d. ln(i) e. ln(z)
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200 i1210° 4 <in290° - 2120° 4 2 o =
Y sin“0° + sin“10° + sin“20" +..... + sin“180 _ Lﬁ@allﬁ%blﬂ‘lﬁﬂﬂ’)ﬂlﬂh

4. ™M a
c0s20° + c0s210° + c0s220° + ... + cos2180° b
TaeN 11.5.0. U949 a taz b 110U 1 ud2 a2 +b2 niula (PAT 1 1.7.58)

5. @199 sin?1°+sin22° +sin23° +..... +sin2360° AU la

6. sinZ1°+2sin22°+3sin23°+.....+180sin2180° Taunmla
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7. x vag y duiwuesinaeandesiuaums
3sin(x—y) = 2sin(x+y)
9
uad (tan’x)(cotdy) wnnudelaaeliil (PAT 1 1.a.57)

1. 8 2. 27 3. 64

cos(01—-65)

8. If tanB; =keot® then g 57

=
+
[

a.

e

1+k 1-k
1-k b. 1+k

-
I
—_

9. Let a,b,c,d be numbers in the interval [0, 7] such that
sina+7sinb = 4(sinc+2sind)

cosa+7cosb = 4(cosc+2cosd)

cos(a—d) 9

What is the value of ]
cos(b—c)

125
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10. Find the smallest positive integer n such that
1 1 1 1 1

cos0°cos 1° + cos 1°cos2° + c0s2°cos 3° EERERE + cos44°cos45° ~ sinn®

11. ey @n27 +@nd | and7 —@nd gy §997]q
tan 36 tan 18

12. If tanx+tany = 4 and cotx+coty = 5 , compute tan(x+y)
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13. 81 A+B = 45° 4d71A1W0d (1 +tanA)(1+tanB) Avvolasae 11/l

1. 2.1 3. 2 4. 4

N |—

14. fruald x = (1+n9°)(1 +tan 18°)(1 +tan 27°)(1 + tan 36°)(1 + tan 45°)

1 2m = x333 4da 0 Taumla

15. U89 log (1 +cot46°) +1log,(1+cot47%) +log,(1+cot48%) +..... +log,(1+cot89°)

snumla
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. o o 1 Iy} 1 9]
16. Aoy [S30 _ cos30° ) ehdudelane il (PAT 1 0.a.52)
sin 10 cos 10

1. 0 2.1 3. 2 4. 3

17. tan 15° +tan75° Haumnumila
1. 2 2. 3 3. 4 4, 5

18. 0<6<ZX uag @an’0-4tan6+1=0 182 cos 40 Naumiumla
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19. Which of the numbers below equals sin 15°+cos 15°?

a. 0 b. 1 c. # d. @ e. ﬁ
Y . »\/g 9 . S 1 (% 9) =1
20. 91 cosO—sinO = 3 197 sin20 ilﬂ'mi\iﬂ‘Ll"Uf]Glﬂ (PAT 1 4.0.52)
4 9 4 13
1. ;3 2. 3 3. 9 4, 5

o Id o a { .
21, dwmuald x Wudwouase Taeh sinx+cosx =§

Y 4 2 o < {
1 (1+tan2X)CotX = !ﬁﬁ] allag b l‘]J‘IJi'ﬂ‘L!’J‘L!WIiJ Iﬂﬂﬁ N.5.0.U93 a Iag b

a
b

Wiy 1 udd a2+b2 midumla (PAT 1 3.9.56)
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Y 4 4 o [y
22, i HLE 4 COSX o ﬁ FMSUV1Y x>0

y 1 sin2(2x) . cos2(2x) v ' =
HAIMUDY 5+ asanutelano 11l (PAT 1 W.8.57)
1 25 2 1
L. 144 2. 126 3. 9 4. 6

23. Let A and B be acute positive angles satisfying the equalities
3sin’A+2sin’B = 1,
3sin2A -2sin2B = 0.
Find cos(A +2B)
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1+8sin310°

12sin5°cos 5° !,‘V]']ﬂ‘l_ll‘]mclﬂ

24. AUDY

<] o 3 { { { o . o . o o
25. &1 n Wudwwdvuinidesigainin I (3 -4sin29°)(3 - 4sin?27°) = cotn

9 S 1 [-Y 1
a3l n 11?’]11‘]/11ﬂ‘1jmﬂﬂ

26. AVDY cot0°(4sin29° — 1)(4cos263° — 1) MmN e
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27. The value of tan®20° — 33 tan*20° +27tan220° is
a. 2 b. 3 c. 4 d. Idon't know

28. sin Asin(60° — A)sin(60° + A) wifuvelaneliil

1. %sin3A 2. %sin?vA 3. sin3A 4. HE!

29. 1 sin3A = 2 ud2 sin Asin(60° — A)sin(60° + A) Uaunmla

3
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. o . o . o o ] dy
30, Sn23sn8SsindS. gsafudelane Uil (PAT 1 w.8.57)

sin75°
1. tan15° 2. sin15°sin75°
3. c0s20°cos40°cos 80° 4. sec420°

4 3 o 3 {
31. 81 cos20°cos40°cos 60°cos80° = & 1319 a taz b Wus G Tasn w.5.0. 104

o

a uaz b Moy 1 ud1 b2—a mrumla

32. ANUDY tan5°tan 55°tan 65°tan75° NN 1A

11
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